My Math Strategy Book
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Addition

1,589 + 5,678

	Place Value Strategy
	Algorithm Strategy

	Step 1: Break up the numbers into each number’s place value

1000              5000

  500     +        600

    80                  70

      9                    8

Step 2: Add all the numbers together to get your sum.

1000 + 5000 = 6000

   500+600=     1100

    80 + 70=        150

       9+ 8=            16

           
      Total= 7,267
	Step 1: Line up all your numbers so that they are aligned on the left side.

              1589

           +5678

Step 2: Add all your numbers together and carry the first number of a two digit number

              1 1 1         Carry the first number
              1589      17

           +5678      16
              7267      12
    Total 7,267

	          Stringing Addition

1.  Step 1: Begin with the largest number.

2.  Break up the second number into smaller chunks to be added and string the numbers together until you have added the total of the 2nd number.
	  5678 + 1589=7,267
5678 1000  100  100  100 100
       V        V      V     V      V
        6678       6778     6878     6978   7078
7078  100  80  9

        V      V    V

         7178   7258    7267


Subtraction
8,945 – 2576
	Place Value Strategy
	Algorithm Strategy

	Step 1: Break up the first number into each value’s place number


8000  (-2000)  6000
 900   (-500)          400 
   40  39                
     5         300  50  30 10 10            

    (-6)                                 (-70)

Step 2: Subtract or take away the second number from each place value. If that place value does not have enough, break up the place value above it and take the value from there.
Step 3: Circle all the remaining values that have not been crossed out at add.  This is your answer.

6000 + 300 + 30 +39=

             6369


	Step 1: Place the largest number on top of the smallest number to where all numbers are aligned on the left hand side.
    8   13  15
 8 9 4  5

-2 5  7 6

 6 3  6  9

Step 2: If the top number is smaller than the bottom number ask the neighbor next door to let you borrow ten.  If the top number is smaller than the bottom number ask the neighbor next door for ten.
Step 3: Remember that you once you find a neighbor to let you borrow money you must take one away until you give the money to the original neighbor. 

	Counting Up Strategy

                                                                   
1.  Begin with the smallest number and count up until you reach the largest number.

2. Add all the numbers you counted up by and that is your answer.
	2576   8576  8580   8600  8945
        V        V        V      V   

      6000    4        20     345
   6000+ 4+20+345= 6369




Multiplication
89 X 6

	Array Strategy
	Cluster Strategy

	80        9

Step 1: Create a box that divides each place value.

Step 2: Multiply the top number and the side number and fill in the answer in the box.

Step 3: Add the numbers in the boxes together to get your answer.

480 + 54 = 534
	 89 X 6
                  50 x 6= 300
                  20 x 6= 120
                  10 x 6=   60
                    5 x 6=    30
                    4 x 6=    24
                                 534

Step 1: Break up the first number into numbers that are easier to multiply by.  

Step 2: Multiply these numbers by your second number. 

Step 3: Add all your numbers together to get your answer.

	Foil Strategy

	Lattice Multiplication Strategy

	
8 9 x 6

                 

80 9 X 6

Step 1: Break up the number into its place value.

Step 2: Using the arrows connect the numbers from one side of the equation to the other.  (Over and under)

Step 3: Multiply these two numbers together then add to get your answer.
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                                      =534

Step 1: Create a chart using one set of numbers on top and the other on the side.
Step 2: Multiply the top and bottom number and place the answer in the boxes starting with the first number in the top box
Step 3: Begin at the bottom and add the numbers.  If you need to carry add the number to the next box.

The numbers on the side should be your answer.


Division
259/6
	Web
	Big 7

	Step 1:  Draw a circle and place the dividend inside.  Create a web branching out with the total number of divisors in your problem.









Step 2: Add an equal # of landmark numbers inside each bubble to count up to get to your dividend.  Continue to add the same amount in each circle until you cannot add an equal amount any longer.  
Step 3: To get your answer, add the total number in one bubble.  The total left over is your remainder 
	Step 1: Draw a big seven.  

Step 2: Continue to multiply landmark numbers by your divisor to reach the total of the dividend.

Step 3: Record each number you multiply by on top of the seven and subtract the product each time.



 
6  259
-240
 019

-  18

      1

Step 4: To get your answer, add the numbers on top of your big seven.  If you have any amount left over, this is you remainder.
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